E+RE S

. WA, B e M,(C),

6 2 -2 6 2 2
A=1 -2 2 2 , B=| -2 2 0
2 2 2 0 0 2

(a) BIEAERE A F0 B A AH R RRRE 22 10 2

(b) R EATHIBR /N2 T

(c) HHEEATMAIZEE T4

(d) RHEATH Jordan FrifER.

. WREHE A, B € M, (C) ## & rank(A) =rank(B) H. 4 = up.

(a) IEBH: X n=4K, A~ B.

(b) Hn="7HK,A~ BREML? IHFUHIIRIILEL.

LWV R n ERRGEUEEL u, v e VKR € R G (w4 tofv) = 0. FIFE (u+ to|u),
FUERH Cauchy A&,

WV n 4ERRGUEE], u, v e VIR :

(a) la+v]* + [[u = v[* = 2[ju]* + 2[|v]*.

(b) 2R fluf| = [|v]l, W (u+v) L (u—v).

(c) (ufv) = Zlu+v|?* = flu—v|>
(

d) fla = v[* = [ful* + [v]* = 2[[ull|v][cos 6 (6 73 u,v FSh).

. WA, B BHRE, diag(A, A) 5 diag(B, B) fHfl. iEB: A, B AL,



